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Directions (1-2f : Which of the
_ Directions : From the given an-
amwe:;i[iﬂ:!m;hint@amy ﬁm swer figures, select the one in which
mirror 15 held at AB? Eq . s
1. Guestion Figure L _ 8. Question Figure
A Q TiC FlE |= —
\ mm Tm W
un“lﬂﬁnu[?;ﬁ:]nt@chqm- ¢
n among the four answer flgures [ |
Angwes Figures which one ¢an be formed from the : /ﬂ
i _.El — mtm;lptemgh'enlnthewmﬂun i i / |
_ ,- L T TR TR T
AR “Foeeren 0T il ook g b
i1 i [ i} - rhen fitted with one of the
. “Irames. (1. (2], [3) or [4) turms
2. Question Figure ' itsell nto s perfect square block,
A Select the rght one.

i oy
ol = || 1|

Answer Figires
\ﬂm IEJ 7 (1 (2] M
l % \ 10, A square r la folded in
i i i3 D El mpape n

. i) gl manner anda punch
8 . When unfolded the
3. Choose the comect water image Answer Figures :
aitheq ool t paper appears as given below
four answer figures given : alg
A@ i i} R Find cul the manner i which
Directisns : Which one of the an- the papar is folded and punch
swer figures shall complete the ques- 18 made from the responoes giv-
Answer Figures tiom Agure? ¥ en.
7. Guestion Figures
mm W wea o a M
. 11.
oo i e
ofithe alternatives (1), (2), (3) Answer Figures figure is folded on the datted
and [4) will exactly make up the ' ' tine as showvm?

R ™ 74 7 B

T {3 (4 2
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— - bd. Which one of the following can- - 3%, 0.01 ¢ 0.0001 1 005 : 7
g1 1 1 i B tres had the candidate with 1) 0.00025  [2 0.0025
L E | E el i highest serial number? 30025 [40.25
2 = ; (1) 40 (2) &2 28,2112 : 8118 1921 : 7
i1 12) (3] 4] {31 59 (4 36 {1y 1881 2 a8l
lﬂlhmmngularpape:a:dhldadm Directions : In qumm;'ghw {31188 [4) 1118
a partindar marnier apunch  sarhe numbers are given in rent ) Question Figures
s made. When unfolded, the Rows/Columns. Which ane of the giv- i
paper appears as glven below.  en Rows/Columins are connected /re- \ - . ;?
— lated with each other in some way. &.ﬁbuﬁ‘ | 1
& 15. I o0 m - ¥ '
o -2 5 3 4 G Answer Figures

Find out the manner i which
the paper |s folded and punch

is ke frowm e responses ghy-
TN
L

[ {2 (R3] [t
Directions : In question given be-
low letters A to Z. Under each capital
letier a small letter is written which
is 1o be used as a code for the capltal
letters.

A|B|CID| B PG H| ] J] K} LM
i n|plals|alc|[v[b] t]1]d] j|
NDFQR&TUG’ﬂIYE.
kel’rw}'guhmiitux

A group of five capital betlers is
g@iven below and its code squivalent is

ghven In one of the columna (11, (2),
{3) or [4). Study the group of letters
given in thequestion and with the help
of tode given above, choose the code
equivalent from amongst (1), (2}, 13)
or (4] as your answer.
13. SORGT
(1) seregr, nfmer, rwges, vimage.,
gegaw, fmusow
(2} srweg, pobit. kwyna, Ldjch,
L, nkeoty
[¥yrwnm. pmxad, tlghp,
ynkam, dhicf, usve
[4) segwr, groyad, yrwog, gm
npt, awkyn, blpgl
Directions : [n queston beldw are
given some Roll Numbers of candi-
dates regisiered at different centres
for an examdnatbon, The frst teo 0§
ita from the left stand for the centre
eode and the next four for the serial
number of the candidates registered
at the centre.
G25738 551012 5G0TBY 472045
531616 603458 475081 543862
496073 827023 625003 37246
452101 402001 434582 450583
497023 331145 405700 406573
596732 455002 451670 EE.E-WE

1
2 .4 18 9 16 14
3 8 56 27 64 132
4 168 116 &1 256 180
5 32 120 243 1024 508
[1} Colummns 1, 11 and 111
[} Columna 1, 1T and IV
[% Columns 11, IV and ¥
[ Colurmns 1, TH and TV

18. You are ghren name of a town
and a date followed by four al-
terpatives. OF these dnly one
malches while cthers have some
mistakes. You are to choose the

response exacthy sarme a5 the g
B ane,

Giraahati
l4thJamuary, 1808
[1} Carwahati
lath January, 1908
[3) Criraahati
lath January, 1980
(3 Cuwhatl
lathJapuary. 1908
[4) Cuwhutl
I4thJanuary, 1908
THrections (17-24) : In each of the
falkowing questlons select the related
betbers,fword,f mumber,Mfigure from the
ghven alternatives, .
17. Calendar : Date : : 7: 7
(L) T : Hewir
{%) Tranaport : Bus
(3 Dictionary : Word
[4) City { Fin Code
18. DEVIL : LIVED :: STRAP: 7
(1) PFRATS {2 PARTS
(HTRAPS (4] SPART
18. HOUSE : GNTRD 1’7 : KHFGS
[1) SIGHT i2) FIGHT
(3 MIGHT (4] LIGHT
20. METAPHOR : EMATHPRO
NORMAL : 7
(1) ORMLAN
3 OBMELA
2.11:5::17: 7
nme
3] 10

(2} ONEMLA
(4} ONMRAL

e
(412

ENEES

Directions (25-32) : [n cach of the
foltowing questions select the one
‘which I.sdl.fﬁe-rentfrmnl_h:nﬁl:r thres

TESPONSES,
208, (1) hair 12} feather
(3] wood [4) grass
28. (1) Bulb - Filament
. 2] Pencll - Lead
i3] Leal - Flower
{4] Fruli - Seed
27. (1} Artist - painting
{2} Baker - cakc
{3 Caobbler - shoes
[4) Watch - Ume
Z8. (1) SFPH 2] TVLH
[3 MFPC {4) EMFN
28. (1) BOFH 12) ACEG
(3] IKMO (4} RTVW
1 9
20. (1) ¥37 275
15 ;8
i 5= 4 55

B1.01) 1, 15, 255 (24, 13, 165
(#-6, 15, 219 (43, 14, 196
32.

.ﬂ-. A Ol OO &
Fa O Al Of|& D
{1} (13 EEl 4

Ddrections : A series of figures are
ghven which ean be grouped tnto class-
es. Select the group inte which the
figures can be cladaifled from the gh-

I

HilEmilEs

33,
i (3 14}

Ed
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e ) " " Directions : Which one sef of let- 1) 425 2] 542
- @ ' tmwhmﬂlqumﬂuﬂymmdﬂlhe (3] 524 [4) 531
| ||| Elll l mpml:!t;men!EtMruﬂmahﬂl 48.7* 32 = 42
T m W Complete 6 4°3=72
M1, 7: 2, 4 3, 5; 5 8 “»™-Pl.pplmp_Impp 5%5%4 =100
(211, 4; 2, 7: 3, 5 6, 8 Wpmpl . @Almpl 476" 5a7
(301,32, 7; 6, 84, 8 Hpmml - @lmm] :
{4”]; 4. 3. B. 3. a8 4, 5] 1 In one of the segi, (1125 21114
<4 3 6 3, 5: 7. 8l ofletters given below ad (3] 44 [ 120
. Diroctions (34-37) : In each of the are skipped in a d Mntlm BO.4*6m T2
;ﬁmngquﬁﬂhma series is given  Which one of the following series ob- Bl*5=1225
mgl;eﬁh‘ﬂimbﬂdﬂg,ﬂmﬂwm- serves the rule given above? 9*2 =147
lhatwlﬁm mﬁmﬁmm“ B i P4 o
Comp el MA_G_ K_N_P (320 [4) 43
3, AND, EAR, INK, OLD 7 BIN_P_ H J © Biavr
"IURN (2] AGE [-IH[:-,J_G-T-U P':l_la tr-; 3?2|3
3 DOG (4) OIL 43, In the following aa -
following queston num- 17
38 6. 29, 121, 7. 1961 ber of leiters akipped 11 be- 19" ?I:f;gg
[ 484 i) 481 aerien Is increased by one. 240 (& 160
36. 10, 14, 19, 25, 7 Which of the following series 83, [3) (4210
() 32 2} 30 observes the rule? From the given alternative
a7, BIDHKPYV MADHEKM wnn:‘l formed using the let-
Question figures &4 Which one of the i m the given word INDUS-
: ' tlons s commect? T RN
E ET ? D {1I12+ﬂ+-:!x3.5 n {4 DUST
. [212x3+4+2=42 ) STORY (4] TRY

B12+3+4x2=12
#12x4+2+3 =25

B3. From the given alternative
words, aelect the word which

A8 LetJ=1. - . can be formed using the Jetters
D,, ﬂ u D Neil,0nis P17 g e given word EDUCATION-
the letter to be nse .
o m o mhhﬂmmﬁ’“m‘ (IDUKE (%) DRESS

38. Arrange the following warda in [P-C))+U-K=0 [3] CAUTION  [4) RAUGHTY
a meaningfiul order : mw 2o B4 The cormect spelling of a word
{1} Sked 2 3™ )0 I2 glven. The four alternativea
13 Flawer {4) Fruit 48. The square root and power plac- have some mistakees auch as
{5) Tree ea in the equation below require L. letter omdtted,
L2345 numbers to be inserted. :unmmed;ﬁ;raddad
22 3 4,5 1 ) sall o7 . BequIenCe ers changed.
31,564,312 :;dmm 4. letler omitted and ancther bet-

correct sct from the ter added as a substitute,
M1, 25 34 reaponse given below :

B4, I[ fiest three letters of the word [1)81, 3 @0, 4 Find the alternative which con.
“UNIVERSAL" ape written in the 1,8 4) 625, 3 sains maxirnum number of mis-
reverse order followsd by next 47. Il ®x meahs Minus, + means takes.
three written in the reverss or- Plus, + means Hul:t[pl'lmﬂnn CONNNCOISSEUR
(s (2) L (16x5) + 5+3=% {3} CANNISSEUR
Ha HE {162 21 10 (4] CONDISSUR

40. Arrange the following figures in (52 (4] 25 B8 Provide the word in the brack-
4 progresalve sequential order. Directions (48-81) : Some squa- etas which is related to the words
Indicate the correct order from  dons sre sobved on the basis of & cer- on elther side of the brackets.
the ghwen responses. taln system. On the same basis find Conceal [ _ ) skin.

T - out the correct answer from amongat (1) Guide (2] Hide
é@ AA @ ’&& the four aiternatives for the unsolved (3) Ride [4) i
: equation in each question, #8. The following make meaningful
¥ b ; 48. 4* 8 * 5 = 5058 nmdnﬂlwuhtmmmgr-
- [ d T*3*8 =040 changed, -
{ﬂim E‘?m G*5*2 =783 (&) DENL (Bl DANS
desily cabd 3*1%4=3 IC)KORW (D) KEES
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Identify the letters (o be Inter-
changed :

(1} first and second
(2) third and fourth
|3 second and third
{4] first and fourth

BT Which set of three letters can
be added to the following to form
meaningful words ?
BL. REM. TAMAR, BEH, GR. K
(1) OCK [2] D
3 AST [4}UEF

B8. Select the combination of num-
Tbers so that letters arranged ac-

cordingly will form a meaning-
ful word.

T M HR E O
E 4 3 2 1 0
(Hoz5314
[M504231
H315402
405312
Es.mnmda are given. Using the
" letters contained In these two
words, which one of the follow-
ing can be-formed?
[4} Phrase BY Elate
(1) Reapect - (2) Pastry
[3) Asphalt (41 Elevate
Directions ((0-81) : In cach of the
following questions tem statements are
given followed by wo concluslons |
arvd 11. You have to consider the two
statements to be trud: even if they
seem to be at varance frbm commmdn-
Iy known facts. You are to decide
which of the given conclusking can
definitely be drawn irom: the given
slatements. indicate your answer,
80, Staterments : (1] Elections are
belrg held too frequentty.in In-
dla.

(I} There s a need to review our
present democratic system.
Conclusions : (1) Our prebent
democratic system has not been
satiafactory.
(11} Frequent elections’ are not
good for 2 healthy democracy
(1) Qo T fidloer
{2) Omly 1l follows
(3) Both I and II follow
i) Meither | mor I follgws

61. Btatements ; (1] Most No : 64
buses go to my office.
{11} This 1s a No : 64 bus,
Concluslons ; (1) This bug goca
to my office. '
[1I} This bus does nof, go.to my
office.
{111 and IT follow

(21 does not follow, and I, fol-

 lorars

431 I does not follow and I fol-
low

{4) Neither lollows
82, A crow saton 3 palmeiree and a
palm nuot fell. Which one-of the
ipferenpes is valid relating to
abowe incident?
{1} The palng nut fell since the
CROA Bat o the treo
(2) Sonmetimeas eroos sit on pakm
trees
{3] Thie iz an act of accident
[4) This is an act of colncidence
B3, If Flower i called TREE, Tree
is called RED. Red is called
GOLD, Geld is. called WHITE,

whal are ornaments made of?
{1} TREE [2] RED
“[BAIWHITE {4) FLOWER

A of triangle consists of 41-
plﬁhituﬁms:a'ahmmthe
above Migure. The set of alpha-
bets on the extreme right side
of the triangle are
(1} BDGEFTW (2} OJFCSVX
[3) BDOKFYX [4) CRIOSVX
88. Which number will replace the
quasl.lmnm‘k'?

{1]6
{4]9
uﬁ.!_i"lndm:mlum,gmim'herinme
e

10]17] 8
5| 3.]15
6 |14 7
42|68 |92

(1123 (2410
(3125 18] 48

o7, In the series of digits
‘B467343783445683464345, the
digit with the least frequency la
(e - A7
1 T4h4

€8, How many 75 in the following
sequence of numbers are imeme-
diately preceded by 6 but nol
immediately followed by 82
34B76156T8489675
mn1 Zz
23 4o

68. If B becomes [ and C becomes
I, then :Ilhat will D become In

English alphabet?
(1IN 2K
3P 40
T0. If EARTH can be coded as '1US-
BF' how can GLOBE be coded?

(3 FPMCH  {4) FCPMH
TLITB=8L=7.0=5=C=8 K

= 4 using the given total iind out

the misslng symibeol in the hlock.

L[?[K[K]K]=24

73. In a certain code the following
numbers are coded by assign-
ing signs :

1 23456788
<+ #0OF == = -
Which number can be decoded
from the ghven symbols?
- #

(1183181 . (268731

(3] 62751 4] 63118

74. In a certain languags REFORM
i coded as 42634%:and FOR-
MULA is coded as 6349871,
how ks MULE eaded in that lan-

guage?
()grez (27982
A3.0E72 |4) 2878

TEV, W, X, Y and Z are flve
frienda. ¥, X and Z are fond of
Mango. W, X and ¥ like Apple.
Vv, W and Z Uke Guava, W, X
and Z Hke Banana. ¥V apd ¥ are
fond of Orange. W, ¥ and Z like
Chickon.
Fruits liked by X are

JAGRAN

£ Josh
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(1) Mango, Apple, Barana

{2) Guava, . Banana

(3 Banans. Chickod, Apple

(4 Mango, Chickoo, Guava
T8, Aand B are sisters. A s moth-

er of O B has a daughter C who

I8 married to F. G is the hus-

wﬂ of A.-Howr 1. C related to

(1) Couasin (2} Niece
(3} At
(4) Sdster-in-law

T7. Gopal 1s elder to Mobhan, but
younger o Ram, Mohan & elder
to Schan, bul younger to Rarm.
Who is the eldest?
(1) Gopal (2 Mohan
3} Ram () Sohan

T8 A child has a glass with &5
beads. He took 23 from it and
put 17 back to the glass. Then
toak 27 from th.and put 19 tnto
the glass. Then took 14 from the
Elasa. Now how many beads are
there in the glass and outaide
the glasa?
(1) Inxide-37, Cutslde-25
(2) Insdde- 1, Outside-64
(3 Insdche-27, Cutaide-38
(4] Inaicke-35, Outside-30

T8. The average welght of 8 persons
of a family is increased by 1 kg
when one of the members whose
welght ia 60 kg is replaced by a

4} Mome of the above
BO. A aingle discount equivalent to
a discount series of 209, 205
and 10% is
(1) 49.6 % (2) 50.4 %
(3} 530 % (4} 47.0 %
Fbu'ﬂltalmnfui'u:hélfandune
fifth of @ number. exceeds one

1
third of the number by TlrE.n‘.‘nuz
fnumber 5

(1) 15 {18

3] 20 4 30

(22602 x(z2503

O tanf S mgp? o el to

1

(115 {E}E

L
@B 5 ) 1.5

83. Father tsaged three times miore
than his son Ramu. After 8

years, he would be 1—; times

of Ramu’s age. After further 8

years, how many times, would
hie be of Ramu's age?

1

3
[-‘ﬂ‘-*;umm_ () 3 times

84. The ratlo of two numbers is
3: Sand their LOM ia 300, Then

one ef the numbera will be
30 [ 5O
=0 475

88, The length of rectangle is 1 cm.
more than its width. [ts perime-
ter is 14 cm. The area of the
rectangle s
(1116 em?  [2) 15 cm?
(#12em®  {4) 10 cm?

B I the day before esterday was
Thursday, when will Sundiy be?
(1) Dy aftér fomorrow
(2} Today
(3} Tomorrow
(4) Two days after today

87. If the number next bo*7" s writ-
ten as 10, theiyip this gretem,

the value of 100 i3
11] 48 ) 64
M3 100 @

88. Roopa starls from a point and
walka 15 metre (owards west,

(1} South (2 Weat
i3 East [4) Morth
88. Ram and John start from a place

1
A wall'l'.h‘lgll.drhn-md.;ﬁﬁ ke
per hour respectively. How
many km will they be apart™at
1
the ¢nd of 35 hours; if they

walk in opposite direcilons?
(I} 33 km (2) 33.5 km

1
3 B km 14 33,01 km

20. On the seven members panel
HUng in a row A" is to the im-
mediate left of ‘B, but on the
Immediate right of ‘D", ‘g is on

the right of ‘A" but is on the lefi,
*of 'S, and T i on the left of v
who (5 bo the left of ‘0¥, Find the

member sifting rght in the mid-
dle.

v 21 A

30 4D

B1. X atans from a point P towards
weat and reaches next paint Q.
Fram there he tums towards
North and reaches place R.
From there he takes turmn io-
wards South-West and reaches
a place 5. From there he takes
hirn towarda North-West and
resiches place T, The path af his
Journey s correctly shown by
which of the ghven reaponses,

T R E T
DR
F 0 ok
m BT
T R P
%
5
0P R
(3] 4]
2, Study the followdng diagram con-

slsting of a circle, a 1>ctangle
and a triangle and answer the
question ghren below it

IFthe circle i3 called “rectangle’
rectangle ks called ‘triangle’ and
triangle is ealled ‘cirele’, which
nurnber is only in the (rdangle
bul not in other two diagrams?
{11 (2} 10
37 (416
83, Choose from the four diagrams
- given below, the one that illus-
trates the relationship among

languages, English and HindL
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8. Obacrve.the faces of the dice
and answer the question.
Which colour la opposaite to

CRIEBILB

il - 2] (3) {41

(1) Yellow (Z) Pink
(3} Gretn [4) Black
95. fiwe
ore | lwop
fowr | thres
§ix

I & cubke s made using abhove
arrangement which word will
be In apposaite face of the word
one?

(1) Thres (2} S

(3} Four {4} Five
88, Which of the four cubes

below can be ereated by i

the given design?

>~
o [cof p
B

P ED | P

¥ (2} {3) (43
97. Four portlons of a.dice are ahosm

below :

Which numbef 18 on the face op-
posite to 37

|| W@
A1) (2 {3 4)

1 (2) 2

3 4 )5

BE. Huwmn_nyuhnﬂmmﬁmm
the Ggurs below ?

s 2) 10
3 12 {d-]-ll

88. Among the four answer figures,
which can be formed from the
cut-pleces given below?

il

13}? (4 %

Directlons : In guestion below
which ane of the answer figures shall
complete the given question Ogurey
LD, Qrasstion Flgurn

D

<l <

{1 {1 (33 4]
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Answer: General
Intelligence
1| (1) 26 | (3) 51 (3) 76 (1)
2| (4) 27 | (4) 52 (3) 77 (3)
3| (4) 28 | (3) 53 (3) 78 (1)
41 (4) 29 | (4) 54 (2) 79 (3)
51 (1) 30 | (4) 55 (2) 80 (1)
6| (2) 31| (4) 56 (4) 81 (3)
71 (4) 32| (4) 57 (2) 82 (2)
8| (2) 33| (2) 58 (4) 83 (1)
9| (4) 34 | (1) 59 (3) 84 | (3)
10| (4) 35| (2) 60 (3) 85 (3)
11| (4) 36 | (1) 61 (4) 86 (3)
12| (1) 37 | (3) 62 (4) 87 (2)
13| (4) 38 | (4) 63 (3) 88 (2)
14| (2) 39| (2) 64 (4) 89 (4)
15| (4) 40 | (4) 65 (2) 90 (2)
16 | (1) 41 | (1) 66 (1) 91 (3)
17 | (3) 42 | (2) 67 (4) 92 (3)
18| (2) 43 | (2) 68 (1) 93 (3)
19| (4) 44 | (3) 69 (3) 94 | (4)
20| (3) 45 | (3) 70 (4) 95 (1)
21| (2) 46 | (1) 71 (2) 96 (4)
22 | (2) 47 | (4) 72 (3) 97 (3)
23 | (1) 48 | (1) 73 (2) 98 (2)
24| (1) 49 | (4) 74 (3) 99 (4)
25| (4) 50| (1) 75 (1) 100 | (3)




